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Direction : Answer the following questions by

selecting the correct option.

1.

With the help of ogive curve, one can

determine
(A) median
(B) deciles
(C) percentiles

(D) All of the above

Mean is a measure of
(A) location

(B) dispersion

(C) correlation

(D) None of the above

Extreme values have no effect on
(A) arithmetic mean

(B) median

(C) geometric mean

(D) harmonic mean

fAcitie « AT Teg b @ WEI AHSTER

Teg wie |

1. Ogive IGFCIAR AR fo=melel F1 I-

3.

(A) w511
(B) deciles
(C) percentiles

(D) T#IcaR SR

51w e w7 =1
(A) ST
(B) fwgae
(C) ~=orE=

(D) T°[Cad (FFB2

ffvzel T @A 2] 2
(A) oMfafss a1cTa Tom
(B) WK T

(C) ®CeTred 5T Toid

(D) R=dr a1cwa Tom
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4. The geometric mean of two numbers

5 and -5 is

(A) 10

(B) O

(C) 5

(D) None of the above

4. 5 GR -5 ¢F Bemreq e 209

(A) 10
(B) 0
(C) 5

(D) TR (T2

5. The AM of first 100 natural numbers 22 10010 FreiiRe A anfeifess s za1
is
(4) 51
(A) 51
(B) 50
(B) 50
(C) 505
(C) 505
(D) TR (@b2
(D) None of the above
6. If AM = 10 and CV = 40, then the : ZFEAM:[; 10 4R CV = 40 =, o
value of SD is Bl S
A) 4 (A) 4
(B) 16 (B) 16
) 12 (©) 12
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / 1% JI(Td el SEall
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7. For a positive skewed distribution

(A) median > mode
(B) mode > mean
(C) mean > median

(D) mean > mode

If for a frequency distribution
mean = mode = 16, then the value of
median is

(&) 0
B) 16
(C) 32
(D) 8

If Q; =15 and Q3 =25, then the
coefficient of quartile deviation is

(A) 4
® 5
© 3
o) ;

7. G0 4TS T [er@en o

(A) median > mode
(B) mode > mean
(C) mean > median

(D) mean > mode

a3 ofereE Remew o

mean = mode = 16 (s, median-9q
RIREEISH

(A) 0
(B) 16
(©) 32
(D) 8

I Q=15 R Qz=25 T|W, O
vofis [Rpife @ereea Jie 2

A) 4
®
© >
D) 2

/110
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10. The correct relation between MD

11.

12.

(about mean) and SD is
(A) MD > SD
(B) MD < SD
(C) MD > SD

(D) None of the above

In the regression line y = a+ bx, b is
called the

(A) slope of the line
(B) intercept of the line
(C) Neither (A) nor (B)

(D) Both (A) and (B)

If regression coefficient b, <1, then
b,, is

xy
(A) less than 1
(B) greater than 1

(C) equal to 1

(D) equal to O

10. MD (about mean) €3} SD-49 ¥

11.

AP T 23
(A) MD > SD
(B) MD < SD
(C) MD > SD

(D) TR (DR

e @9 y=a+bx 99 CFE  b-F
BRI

(A) @1ReT e
(B) TG (2wl
(C) (A) @R (B) €7 FFMH2 T

(D) (A) €R (B) T3

12. I fqee @91 by, <12, O b, 21

(A) 1 cAF @b
(B) 1 (AT 90
(C) 1 &g =

(D) O @& M

/110
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13. If Xand Y are independent, then the | 13. IM X @R Y T 27, 97 [ @975

value of regression coefficient b, is Dy~ 1 2
equal to
(A) O
(A) O
B) 1 B) 1
(C) oo (C) e
(D) any positive number (D) @ (I LIS I

14. The lines of regression intersect at 14. e @U@ (2 ¢

the point

(A) (bye by (A) (by byy) R
B) (X, 9) (B) (x, y) Rwe
(€ ©0) (©) (©, 0) free

D) 1) (D) @, 1) frge

15. If r,, =%1, then the two lines of 15. M r,, = +1 2, O3 K @48 2
regression are v

(A) coincident (A) ISl

(B) parallel (B) A=

(C) perpendicular to each other (C) 9 9IRS °17
(D) None of the above (D) Toca @Ee

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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16. The

17.

18.

significance of regression
coefficient can be tested by

(A) t-test
(B) F-test
(C) Both (A) and (B)

(D) Neither (A) nor (B)

The function y=a+bx+ cx? +dx?
represents

(A) a hyperbola
(B) an exponential curve
(C) a parabola

(D) All of the above

Given the two lines of regression as
3x-4y+8=0 and 4x-3y=1, the
means of x and y are

(A) 4 and S

(B) 3 and 4

o)

© % anda >
3

N

(D) None of the above

16. TR RUCHT Ol A9 209 I

17.

(A) t-test @<l

(B) F-test =Ml

(C) (A) 93 (B) Tew2

(D) (A) ¥R (B) 99 (FD3 7T

y=a+ bx+cx? +dx® werssh FOT
eifefifag w3 2

(A) @3 “ARCed
(B) @3> exponential I&FCIAR
(C) @M SIfEqCes

(D) TS IR

18. 76 fcere =1z 21 3x-4y+8=0 &<

4x -3y =1, x 9R y 97 MT T I

(A) 4 ¢ 5

(B) 3 4<% 4

4
(© 5«

NS

(D) T°[Cad (T2

/110
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19. Correlation coefficient was invented

20.

21.

in the year

(A) 1910

(B) 1890

(C) 1908

(D) None of the above

The range of multiple correlation
coefficient is

(A) O to1l

(B) O to

(C) -1 to1

(D) —oo to oo

Probability is expressed as

(A) ratio

(B) proportion

(C) percentage

(D) All of the above

19. T Q% Lo IR

20.

21.

(A) 1910 a1
(B) 1890 e
(C) 1908 e

(D) T°[Caq (T2

I BCo 7T BACH A 251
(A) O (2T 1
(B) O (AT oo
(C) -1 @ 1

(D) —co (UTF oo

IB[AT 2P 1 =7

(A) ratio 2@

(B) proportion =2
(C) percentage 213

(D) T#icae IRl

/110
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22.

23.

24.

If A and B are two events, the
probability of occurrence of A and B
simultaneously is

(A) P(A)+P(B)
(B) P(AU B)
(C) P(AnB)

(D) P(A)-P(B)

The definition of  statistical
probability was originally defined by

(A) De Moivre
(B) Laplace
(C) von Mises

(D) Pascal

For an event A, the conditional
probability of A given A is equal to

(A) 0
(B) 1
(C) 05

(D) Undefined

22. 76 T A ¢} B 99 (T A 4R B

23.

24.

G FRAG® RETH FGRN 25
(A) P(A)+P(B)

(B) P(AU B)

(C) P(ANB)

(D) P(A)-P(B)

AfPRYATS AGIE & o1 TN
PR

(A) De Moivre
(B) Laplace
(C) von Mises

(D) Pascal

O3 Tl A-99 CFE A-99 SRFA
A A-GF TG 26

(A) 0
(B) 1
(C) 05

(D) wiffE
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25. Two dice are rolled by two players A 25. Pﬁ)' 21 ‘{f{‘ (RETRE A @R B 4[l

and B. A throws 10, the probability ‘ifﬁ{m‘l:{ | A 10 m 52 | B, A-49 T
that B throws more than A is el @ qu TF TSR o5
1
A) — 1
® 12 ™ 1
1
= 1
(B) 6 (B) r
1
Cc) — 1
(©) 18 (©) 18

(D) None of the above

1 1
. Given that PA=—-, PB)=—, 1 1
26 A 3 (B) 4 26. S WCR P(A) = 3 P(B) = 7

A 1 .. B
P(B) = 5 The probability of P(A) P(A) _ l P(B)—ﬁﬁ T =
. B 6 A
is
1
(A) i (A) 1
3 B >
B) (B)
1 1
(€) 3 (C) 3
(D) None of the above (D) Tocad (@Ebe

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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27. The probability of throwing an odd | 27. 76 f=eer® «rM w936 Rewre =@

sum with two fair dice is fCse TR 25
(A) i (A) i
(B) 116 (B) 116
(€) 1 Q) 1
D) o) 3

28. A coin is tossed six times. The

probability of obtaining heads and 28. s SRR ¥ AR (F® 4R

tails alternately is (B2 G NS B 28]
1 g L
W 64 W 64
1 1
— B =
® ®
1 1
- o L
©) 33 © 35
(D) None of the above (D) T @FMbe

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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29, If P(é):i and P(ij:é, then | 29. 3W® P(é):i GEN P(i%; T, R
Ilzg is ig—mmﬂf@f
(A) i (A) i
(B) 172 (B) 172
© - © 3
D) - D) 1

30. The probability that a leap year will 30. ¢ =R 530 @R AFE@ ©F

have 53 Sundays is TR =
& 2
) 2 B 2
© = © =
D) o D) =

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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A
31. If Ac B, then the probability P(gj 31. IMAc B, v P(Bj—u‘lﬁ e 21

is equal to

(A) 0
(A) 0
B) 1
®) 1
Pl
C)y —=
© 24 “ pm
B
PB
PB D) ——
o P P

32. Harmonic mean gives less weightage 32. R7[® ¢ I 3FF (A

to

(A) LIS A
(A) positive values

(B) H=IF ¢
(B) negative values

(C) (=G TP
(C) small values

(D) T A=

(D) large values

33. The mean of the squares of first 11 33. AR 4 FIO® TR A TS A

natural numbers is =

(A) 46 (A) 46
(B) 23 (B) 23
(C) 48 (C) 48
(D) 42 (D) 42

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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34. The

35.

relation between quadratic
mean (QM) and arithmetic mean
(AM) is

(A) QM = AM
(B) QM > AM
(C) QM < AM
(D) QM = AM

If a moderately skewed distribution
has mean 30 and mode 36, the
value of median will be

(A) 30

(B) 28

(C) 32

(D) None of the above

34. MU 9T @R SNATeF 9ICeq N T==p(D

35.

(A) QM = AM
(B) OM > AM

(C) QM < AM

(D) OM # AM

<3l “fafeme g ~Rerae e
L 9T 30 GR (AT 36 20T TR I
29

(A) 30

(B) 28

(C) 32

(D) T°[Cad (FFD2

/110
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36.

37.

Which measure of dispersion can be
calculated in case of open-end
intervals?

(A) Range

(B) Standard deviation

(C) Coefficient of variation

(D) Quartile deviation

If each value of a series is multiplied
by 0-10, the coefficient of variation
as compared to original value is

(A) increased

(B) decreased

(C) unaltered

(D) zero

86. fmgacd (I AN o e @l

37.

wERge PRy KeleeT wea ol
1T’ 2

(A) IR

(B) TN “[12(%

(C) Com @I=

(D) voelied fpife

«3o Pifdcem afe @ 0-10 M @
T A G (O QNF O P
 IRESERCRICRERI&S gﬂinil.

(&) 3 3
(B) ZPT “Mca
(C) wIPe AP

(D) [0 =&

/110
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38. In case of |positive skewed 38. wﬁ?mgﬁﬁﬁmw TSGR

distribution, the extreme values lie ORI RICIIRIEIA
(A) in the left tail (A) <= AICs

(B) in the right tail (B) T 23

(C) in the middle (C) =TT

(D) anywhere (D) @& ¢l =1

39. Kurtosis in a frequency distribution 39. &M PR R {DM\SI DI

is adjudged around Ge AP

(A) second quartile A) faom waﬁama
(B) arithmetic mean (B) afifes scea
(C) quadratic mean (C) faars sicwd
(D) mode (D) ceg

40. An alternative chart to pie chart is 40. & 3 forag e ==

(A) step bar diagram (A) &7 = o

(B) area diagram (B) =Tl o

(C) column chart (C) =11 516

(D) None of the above (D) 77 FWbe T

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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41.

42.

Pictograms are generally used by

(A) cartographer

(B) dilettante

(C) scientist

(D) All of them

With the help of histogram, we can
prepare

(A) frequency polygon

(B) frequency curve

(C) frequency distribution

(D) All of the above

41.

42,

foaferfer symere a2 Feae
(A) TIHTPE

(B) =7p <(

(C) Tt

(D) TR e

FACS 7

(A) R 2w
(B) BrcIa™ I@rcal
(C) eIfiRer freresy

(D) T#icaa S

43. For two random variables X and Y, if 43. Zﬁ}' TFR A X @R Y @7 CFc@ M
P(X =Y)=1, then P(X <Y)=1%2q, &
(A) E(X)<E() (A) E(X)<E(Y)
(B) E(X)=E() (B) E(X)=E()
(C) E(X)=E([) (C) E(X)=E([)
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / ¥ FI(& &) TR
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44, For a random variable X, E(}l() is

used to find

(A) arithmetic mean

(B) harmonic mean

(C) geometric mean

(D) quadratic mean

1

44, &3 THFR 5 X-949 G E(X)—aa

SR ey 51 =

(A) onfafeF e

(B) =9 1w

(C) ered STe

(D) fa¥r® 91w

45. For a random variable X, E(t") is 45. g6 THIAF bF X-99 (@ E(tF)-<7
known as [fADRe 2o
(A) characteristic function (A) =l PR S
(B) moment-generating function (B) CNTTD TRAME S FP
(C) probability-generating function (C) ISRl TRAWD S FE
(D) the xth moment (D) x o CCTD
SPACE FOR ROUGH WORK / ¥ (&I &l RN
/110 18



46.

47.

48.

If X and Y are two Poisson variates
such that E(X)=1 and E(Y)=2, the
probability P(X +Y < 3) is

(a) e

(B) 3e™

(C) 4e3

(D) 8-5¢7°

If X ~b(n, p),
Y=n-X is

the distribution of

(A) b(n, 1)
(B) b(n, x)
(€) b, p)

(D) b(n, 1- p)

The distribution possessing the

memoryless property is
(A) gamma

(B) geometric

(C) hypergeometric

(D) All of the above

46. 7D “EPT TP ST SCTFF X AR Y

47.

48.

99 W@ E(X)=1 99 E[Y)=2 =
P(X +Y < 3)-43 T 7(J

A) e

(B) 3e™

(C) 4e73

(D) 8-5¢7°

I X ~bn, p) W, @ Y=n—-X 9
[BISLCITES

(A) b(n, 1)
(B) b(n, x)
(C) b(n, p)

(D) b(n, 1- p)

~feRl 4efa SR e 231
(A) oI

(B) S

(C) wREmfes

(D) ToIcae IR

/110
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49. For a normal distribution, the QD, | 49. 3 FeRF WEHE Fc@ QD, MD

MD and SD are in the ratio @R SD & SO 23
(A) 5:6:7 (A) 5:6:7

B) 10 : 12 : 15 (B) 10 : 12 : 15
C) 2:3:4 (C) 2:3:4

(D) None of the above (D) A& @Fhe o

50. The moment-generating function of 50. p %%WW I GERCCRIGE

a Bernoulli distribution with TGS TAE S0 29
parameter p is

(A) (g+ pe’)" W larpel

(B) (g+pe’)™ ) larpe)

©) (s pe! (C) (g+ pe')

D) g+ pe?) B farpe)

51. A Poisson random variable has 51. << T [CT SPAIl TR

u4 =2, the value of its mean is CFCI W4 =2 (e OIF 90T A 204
) 3 ®
(B) i (B) i
(€C) i (C) i
(D) i (D) j

SPACE FOR ROUGH WORK / ¥ JI(&d &« SR
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52. For an exponential distribution with

p.d.f. f(x):;e_x/z; x >0, its mean

and variance are

o (b2
o (s

11
o 3}

(D) 2 4

52. f(x)=;e_"/2; x>0 p.df & a3

5 FCHICTE ST 9. (SR 25

1
(A) (2, 2)
1
® (23]

o 3}

(D) 2 4)

53. The variance of a random variable 53. [-1, 3] WE® GEin mﬁwyﬁ CICLD
with uniform distribution over the BCER (W 26
interval [-1, 3] is
8
A —_
A) 8 =
5
4
4 B) %
B —
B) 3 3
13 13
b C) —
©) - © 5
9 9
D) — D) —
(D) > (D) 5
SPACE FOR ROUGH WORK / qF <& & SRaM
/110 21 I PTO



54. If X ~ b(16, ij, then the value of u4

55.

56.

is

1
A 3

®)
3
©
7
D)

2
If X~ N(@, 1), then X2 is a gamma

variate with parameters

o i
o 1

11
@ (53]
(D) @ 1)

The slope of a chi-square
distribution curve for d.f. 2 is

(A) a parabola

(B) a hyperbola

(C) a J-shaped curve
(D) a bell-shaped curve

54, I X ~ b(16, i) 2T, O W 5 -9F I 29

55.

56.

" 3
® 7
© 7
o) L

2
zr’r%X~N(o,1)®,wX2®i%W

e ST SRR IF R feNac
e 25

o (e}
o (1)

11
© (33)
(D) @ 1)

2 FETOR TEFS 90 FR Fof Fei

(A) wIiHICen o

(B) “HIgCes I©

(C) J-SFIER @
(D) TOE S TS

/110
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57. The variate x> will be distributed

as

(A) t-distribution with n d.f.
(B) gamma distribution

(C) exponential distribution

(D) chi-distribution

57. \x2 o e 2ed

(A) nFRTOR TAES ¢-folcai=
(B) M1 et
(C) o feca
(D) 2 frcee

58. The relation between the mean and 58. n FEMOR T4 i w12 35l feeiem oo
variance of x? with n d.f. is T R (ST e TG 21
(A) mean = 2 x variance (A) e =2 x (S
(B) 2 x mean = variance (B) 2 x T = (NI
(C) mean = variance (C) T = (S
(D) None of the above (D) T#cEd @03 T
59. A rar;iom Vartiﬁble X iz distrfibu;tfld 59. 5 TR b X-949 e Fa 7
as 4, 7)» e mode o e . .
distribution will be T SIRNCICES SR
22
22 A) ==
A -
A 15 15
9 9
(B) 5 (B) =
17 17
- c) ~L
© 5 ©) =
11 11
D) — D) —=
(D) s (D) 5
SPACE FOR ROUGH WORK / qF <& & SRaM
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60. For the distribution function of a

61.

62.

random variable X, F(©)-F((2) is
equal to

(A) PR<X <Y
B) PR<X <Y
(C) PR<X<YH

(D) PR < X <5)

Stratified sampling belongs to the
category of

(A) judgement sampling
(B) purposive sampling
(C) controlled sampling

(D) selective sampling

For sample observations 1, 3, 5, 7,
9, the standard error of sample
mean is

(A) 2

1

V2

(B)
©) 2

1
(D) 5

60. b T b6 X-9GF e SCorscHa

61.

62.

(FCQ F(5) - F(2) @7 T 23

(A) PR<X <5)

(B) PR< X <5)

(C) PR<X <5)

(D) PR< X <5)

AFTT LA 2R “afe (@ Rresy wwsfe
IS

(A) STGCTD Tl IEIR 7S

(B) oI A FR2R A

(C) Frfge T ere “Mafe

(D) =D =1 cer2 “1afe

GFH T (ACF e I 1, 3, 5, 7, 9
G CFCE TS ST A1 GBI I 25

(A) V2

(B)

ol

(€) 2

1
(D) >

/110
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63. An estimator is considered to be the

64.

best if its distribution is
(A) continuous
(B) discrete

(C) concentrated about the true
parameter value

(D) normal

If X, X5, .., X, is arandom sample
from a population N(O, 02), the

sufficient statistic for o2 is

A) Y X;

B) Y X;?

© (XX;)?

(D) None of the above

63. b 2FIETP @ ©F 3 M OF

fercaa =1

(A) frarfoza

(B) F97

(C) fEfeuieen =g A qge

(D) FrelRS

64. I X, X,, ..., X, 43 7 N(O, 67

99 G THRT TN T, O 67 9]

sufficient statistic 29

A) Y X;

B) X,

© (XX,

(D) T°[cad (FFb2

/110
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65. The formula for

obtaining 95%
confidence limit for the mean u of a
normal population N (u, 02) is

xX-u
A) -1-96< <1-96
A o/n

) p(_za,z gmgzm}o.gs

(C) X+1-960/n

(D) All of the above

65. I FeRF 795 N, 6%) 99 CFeq

W-99 95% ZSREN ool TR T 2

X1
A) -1-96< <1-96
(A) o/ n

)?_
(B) P(_ZOL/Q Sg/\/%ﬁza/2]=095

(C) x+1-966/n

(D) TR IR

66. For an estimator to be consistent, 66. 7 moﬁfﬁm AT orsf
the unbiasedness of the estimator is
A) ARSI
(A) necessary (A)
(B) sufficient (B) =@
(C) necessary and sufficient (C) eCare= @< TR
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / qF <& & SRaM
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67. The formula for the confidence 67. Eﬁ:‘ SRR ‘IW SR E ST HIIACH

interval for the ratio of variances of AORANE CE] A0 )'rmm%zl@ EG|
two normal populations involves

(A) x2—distribution (A) XQ_W

(B) F-distribution (B) F-frce

(C) t-distribution (C) t-focae

(D) None of the above (D) THE (@IDE T

68. The idea of testing of hypothesis was | 68. SIIF “ISFI AN 22 2T Ol
first set by

(A) R. A. Fisher
(A) R. A. Fisher

(B) J. Neyman
(B) J. Neyman

© . (C) E. L. Lehmann
E. L. Lehmann

D) A Wald (D) A. Wald
. a

69. (T “RIF GFMYS M feirfye o fordq

69. Whether a test is one-sided or two- o

sided depends on

(A) alternative hypothesis (A) TPo SeLTCeT T

(B) composite hypothesis (B) cafsre HeJHICeTe it
(C) null hypothesis (C) null S To[
(D) simple hypothesis (D) & AT ToF
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70. For

71.

two normal  populations
N, 6% and N(u,, %) with o2
unknown, the test statistic for
testing Hy:u; =u, based on small
sample is

(A) t= (%, — X3)
1 1
7+7
n, njp
(B) t= (% — X5)
52 1+1j
n, nj
©) t= (%, — X5)

ny njp
(D) All of the above

The degrees of freedom for x? in
case of dichotomized frequencies are

70. w6 FeRPE ofe Ny, 6%) &=

71.

N, 0%) @@ ¢®@ (0° =)
Hy: g =Wy *RFR o #80 AReRee
20

A) t= (% — X5)
1 1
7+7
n, ng
(B) t= (%1 — %)
A2
ny nj
Q) t= (% —x5)
S2 1 1
n, n,

(D) TICaS IR

fo-fReem  sfoRaew oF@ y 293
STl Al 25

(A) 4 (A) 4
B) 2 (B) 2
) 1 C) 1

72. Vital statistics is mainly concerned . o
with 72. Vital statistics 24IT® F=o{fFe
(A) births (A) ST et
(B) deaths (B) 95 et
(C) marriages (C) e 7w
(D) All of the above (D) T#caR SRS
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73. Age-specific mortality rates fail to
reveal

(A) mortality conditions

(B) age distribution of persons

(C) sex ratio

(D) All of the above

74. The value of NRR < 1 is indicative of

(A) increase in population

(B) reduction in population

(C) constancy in population

(D) None of the above

75. Life table has also been named as

(A) mortality table

(B) survival table

(C) life expectancy table

(D) All of the above

73. TP AlfFe g e o

74.

75.

(A) T ol
(B) reCa T Sl feree
(C) Tomt Ser®

(D) T#Icae IR

NRR < 1 3f%e 37
(A) SPIRAT Iad
(B) &P BT
(C) TP fFaer

(D) TR @2

Life table-9g 97[q <Y

(A) mortality table

(B) survival table

(C) life expectancy table

(D) ToIcae IR
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

feraferiRie et sicet e =g -

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2Afsfb aem Ten s @ vRl [ew redl o @l (S wgEIa wm TeAna 2fFce OMR Sesoca red gefb et
TRIED P A TJofmee FIcE P e Fa0e 2@ | 9397 Tad Hfee 391 2@ (Ol I WH A 31 A0 1 |

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (@Fede OMR Te97[@b ©1% F9¢a= 1l | OMR T@R7ICd (FICIRPN ol Fol 91 T8 (@141 A =01 | A
ST (e R Tegeicy e 1 SRl =l Sl (el SRR forLea T o |

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR T@a7l@ 3 247[Cad I92ICa AN ToFo] ST IS 203 | (Il SAFCee (Ju @b ¢ “Mafesre @b =e)) OMR
TeeIq ¢ 2%7@ b (RSl A A |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

RN SHCHCS Ab-9 SF OMR TSA7Cad HR IR 2P7Caq HR frgerercd for4ce 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

REFRNCE SHCHE FIE G2 FCHI SAZCTADBD FIS BN SF (@I Z2C] Tl T TG, 75T 6 JUOSTS T, (&, A2
I, ST (PR 2Ceg e i e 2R 2031 /FCF 20 FACo (el 263 1 |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

AP 2031 SSTGCEDA o (AT AAPF (U [Tocq #R-1RREE TS FEF 77 T4 3@ A0oF ~ArHIA OF SHIefis
FE 8 FCHI SABCTADI IE (THICS T AP |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTBR A7MRACHACTD 1 BASIEEoT-97 RO SRHie =Iol [ 7R 203 O P 2 ~A[a$a 0o #=ea 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

AR TASGCABET (TSN SHCHCTH #Mo-9 [2IF FHF FACO B(F, AR~ 20o SO SPF 220[ 2/ @R
ORRT SeefEcabea fP6 OMR TeR7q Sl (T&AF 3 |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not

signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICOCD Hh-9 (2R R 1 G3R FEINS SASIGCEDR-G7 71 Teao[@ Tl (e Jore (Al A 2[R 29 @yl
FACS PRCIA 1 | AW CHCA 2RI SCHCS Ao-9 G2 FrF ] FC ©Cd fofel O OMR Tea7[@ Sl FCaeTiel q¢e 91977
203 R O b PR AT 1 2 |

Use of any type of calculating device is prohibited.
@ CPICA 40T FTFCIBCIR 2 S7jefeqce] foifem |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[P 751 /PO A AR ALK @G FREN € el SRl vifere 7eq | YK 4ae Seibe IR @ees R 6
ferciel SR e =3 |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I SREICSR 2P71q 9. OMR  TER#Ca (G S (R 1 SIeml 1 A 11 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

R (T TSR A R TR S OMR eI ISR IS ECEHCAA FICT G (R | R 2perafs SR
e e @S #ATea |

/110
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